Osaka University Knowledge Archive

| Title | Characterization of conditional expectations for <br> $\$ M \$-$ space-valued functions |
| :---: | :--- |
| Author(s) | Miyadera, Ryohei |
| Citation | 0saka Journal of Mathematics. 1993, 30(2), p. <br> $315-330$ |
| Version Type | VoR |
| URL | https://doi.org/10.18910/9980 |
| rights |  |
| Note |  |

Osaka University Knowledge Archive : OUKA
https://ir. library.osaka-u.ac.jp/

# CHARACTERIZATION OF CONDITIONAL EXPECTATIONS FOR M-SPACE-VALUED FUNCTIONS 

Ryoнei MIYADERA

(Received October 22, 1991)

Introduction Let $(\Omega, \mathcal{A}, \mu)$ be a probability space, $E$ a Banach space. We consider constant-preserving contractive projections of $L_{1}(\Omega, \mathcal{A}, \mu, E)$ into itself. If $E=R$ or $E$ is a strictly-convex Banach space, then it is known (Ando [2], Douglas [3] and Landers and Rogge [6]) that such operators coincide precisely with the conditional expectation operators. If $E=L_{1}(X, S, \lambda, R)$, where ( $X, S, \lambda$ ) is a localizable measure space, then the author [8] proved that such operators which are translation invariant coincide with the conditional expectation operators. If $E=L_{\infty}(X, S, \lambda, R)$, where $(X, S, \lambda)$ is a measure space, and the dimension of $E$ is bigger than 2, then author [9] proved that such operators coincide with the conditional expectation operators. On the other hand if $E=$ $L_{\infty}(X, S, \lambda, R)$ and the dimension of $E$ is 2 , then the author [9] proved that such operators can be expressed as a linear combination of two conditional expectation operators. In this paper we deal with the case that $E$ is an $M$-space. An $L_{\infty}$-space is an $M$-space, and hence this paper contains the result of the author [9] as a special case. If $E$ is an $M$-space, whose dimension is bigger than 2, then such operators coincide with conditional expectation operators.
If $E$ is an $M$-space with unit, i.e., the unit ball in $E$ has a least upper bound, then we can prove many of lemmas in this paper by easier way. In this paper we do not assume that $E$ is an $M$-space with unit.

1. Definitions and properties of M-spaces. Let $E$ be a real linear space and $N$ the class of natural numbers and $R$ the class of real numbers.

Definition 1.1. A lattice $(E, \leqq)$ is an ordered linear space such that (1) $a \leqq a$ for any $a \in E$;
(2) if $a, b \in E, a \leqq b$ and $b \leqq a$, then $a=b$;
(3) if $a, b, c \in E$ and $a \leqq b$ and $b \leqq c$, then $a \leqq c$;
(4) if $a \leqq b$, then $a+c \leqq b+c$ for any $c \in E$;
(5) if $0 \leqq a$ in $E$, then $0 \leqq k a$ in $E$ for any $k \geqq 0$ in $R$;
(6) $\sup \{a, b\}$ and $\inf \{a, b\}$ exist for any $a, b \in E$.

In a lattice we write $a \vee b=\sup \{a, b\}, a \wedge b=\inf \{a, b\}, a^{+}=a \vee 0, a^{-}=$ $(-a) \vee 0$ and $|a|=a \vee(-a)$ for any $a, b \in E$. Let $\cdot E^{+}=\{a \in E ; a \geqq 0\}$. Note that $a \wedge b=0$ implies that $a, b \in E^{+}$. If $a \in E^{+}$and $a \neq 0$, then we write $a>0$. We also use $\vee$ and $\wedge$ for real numbers, and hence $k \vee h=\sup \{k, h\}$ and $k \wedge h=$ $\inf \{k, h\}$ for $k, h \in R$.

Definition 1.2. An $M$-space $(E, \leqq,\| \|)$ is a normed lattice such that
(1) $(a \vee b) \wedge c=(a \wedge c) \vee(b \wedge c)$ for any $a, b, c \in E$;
(2) $E$ is complete under \| \|;
(3) $\|a \vee b\|=\|a\| \vee\|b\| \quad$ for any $a, b \in E^{+}$;
(4) If $a, b \in E$ and $|a| \leqq b$, then $\|a\| \leqq\|b\|$. In particular $\||a|\|=\|a\|$.

Lemma 1.1. If $E$ is an $M$-space, then there exist a Hausdorff compact space $X$, a linear operator $T$ of $E$ into $C(X)$ and a linear subspace $F$ of $C(X)$ which satisfy the following conditions, where $C(X)$ is the class of real-valued continuous functions on $X$ with the norm $\|d\|=\sup \{|d(x)| ; x \in X\}$ for $d \in C(X)$.
(1) $d \vee e \in F$ for $d, e \in F$, where $\vee$ is defined by

$$
(d \vee e)(x)=\sup \{d(x), e(x)\}
$$

(2) $T$ is a one-to-one operator onto $F$ such that

$$
T(a \vee b)=T(a) \vee T(b)
$$

and

$$
\|T(a)\|=\|a\| .
$$

For the proof see Aliprantis and Bourkinshaw [1] p. 75.
Let $E_{h}=\left\{a^{*} ; a^{*}\right.$ is a linear functional of $E$ into $R,\left\|a^{*}\right\| \leqq 1$, i.e., $\left|a^{*}(a)\right| \leqq$ $\|a\|$ for $a \in E$ and $a^{*}(a \vee b)=a^{*}(a) \vee a^{*}(b)$ for $\left.a, b \in E\right\}$.

Lemma 1.2. For any $a \in E$ there exists $a^{*} \in E_{h}$ such that $\left|a^{*}(a)\right|=\|a\|$.
Proof. By Lemma 1.1 $T(a) \in C(X)$ and $\|a\|=\|T(a)\|$. We can choose $x \in X$ such that $|T(a)(x)|=\|T(a)\|$. We define $a^{*}$ by $a^{*}(b)=T(b)(x)$ for any $b \in E$. Then $a^{*}$ is linear and

$$
\left|a^{*}(a)\right|=|T(a)(x)|=\|T(a)\|=\|a\| .
$$

By the definition of $a^{*}$

$$
\begin{aligned}
& a^{*}(b \vee c)=T(b \vee c)(x)=(T(b) \vee T(c))(x)=(T(b)(x)) \vee(T(c)(x)) \\
& \quad=a^{*}(b) \vee a^{*}(c)
\end{aligned}
$$

Therefore $a^{*} \in E_{h}$.
Q.E.D.

Lemma 1.3. Let $a \in E$ and $b, c, d \in E^{+}$. Then
(1) $(a \wedge b) \vee-b=(a \vee-b) \wedge b$,
(2) $((-a) \wedge b) \vee-b=-((a \wedge b) \vee-b)$,
(3) $((a \wedge b) \vee-b)^{+}=a^{+} \wedge b$,
(4) $((a \wedge b) \vee-b)^{-}=a^{-} \wedge b$,
(5) $\quad|(a \wedge b) \vee-b|=|a| \wedge b$
and
(6) $\quad(b+c) \wedge d \leqq b \wedge d+c \wedge d$.

Proof. Since $b \in E^{+}$, for any $a \in E$

$$
(a \wedge b) \vee-b=(a \wedge b) \vee((-b) \wedge b)=(a \vee-b) \wedge b
$$

and hence we have (1). Since $a$ is arbitrary, by (1)

$$
((-a) \wedge b) \vee-b=((-a) \vee-b) \wedge b=-((a \wedge b) \vee-b)
$$

which implies (2). Since $b \in E^{+}$, we have

$$
\begin{aligned}
& ((a \wedge b) \vee-b)^{+}=((a \wedge b) \vee-b) \vee 0=(a \wedge b) \vee 0 \\
& \quad=(a \vee 0) \wedge(b \vee 0)=a^{+} \wedge b
\end{aligned}
$$

which implies (3). By (2) and (3)

$$
\begin{aligned}
& ((a \wedge b) \vee-b)^{-}=(-((a \wedge b) \vee-b))^{+}=(((-a) \wedge b) \vee-b)^{+} \\
& \quad=(-a)^{+} \wedge b=a^{-} \wedge b,
\end{aligned}
$$

which implies (4). Since $a^{+} \wedge a^{-}=0$, by (3) and (4)

$$
\begin{aligned}
& |(a \wedge b) \vee-b|=a^{+} \wedge b+a^{-} \wedge b=\left(a^{+} \wedge b\right) \vee\left(a^{-} \wedge b\right) \\
& \quad=\left(a^{+} \vee a^{-}\right) \wedge b=|a| \wedge b
\end{aligned}
$$

For the proof of (6) see Fremlin [4] p. 14.
Q.E.D.

Lemma 1.4. For any $a, b \in E$ and $c, d \in E^{+}$we have
(1) $\|(a \wedge c) \vee-c \pm(b \wedge c) \vee-c\| \leqq\|a \pm b\|$,
(2) $\left\|c+a^{-}\right\| \leqq\|c\| \vee\|a-c\|$
and
(3) $\|c-d\| \leqq\|c\| \vee\|d\|$.

If in addition $|a| \wedge c=0$, then
(4) $\quad\|a+c\|=\|a\| \vee\|c\|$.

Proof. By Lemma 1.2 there exists $a^{*} \in E^{*}$ such that
(5) $\|(a \wedge c) \vee-c \pm(b \wedge c) \vee-c| |=\left|a^{*}((a \wedge c) \vee-c \pm(b \wedge c) \vee-c)\right|$.

We may assume that $a^{*}(c) \geqq 0$.
By the definition of $E_{h}$
(6) $\left|a^{*}((a \wedge c) \vee-c \pm(b \wedge c) \vee-c)\right|=\mid\left(a^{*}(a) \wedge a^{*}(c)\right) \vee-a^{*}(c)$

$$
\pm\left(a^{*}(b) \wedge a^{*}(c)\right) \vee-a^{*}(c) \mid
$$

Since $a^{*}(a), a^{*}(b) \in R, a^{*}(c) \geqq 0$ and $\left\|a^{*}\right\| \leqq 1$, we have
(7) $\left|\left(a^{*}(a) \wedge a^{*}(c)\right) \vee-a^{*}(c) \pm\left(a^{*}(b) \wedge a^{*}(c)\right) \vee-a^{*}(c)\right|$

$$
\leqq\left|a^{*}(a) \pm a^{*}(b)\right| \leqq\|a \pm b\| .
$$

By (5), (6) and (7) we have (1).

$$
c \vee|a-c| \geqq c \vee(c-a)=c+(0 \vee(-a))=c+a^{-} \geqq 0,
$$

and hence by Definition 1.2 (4) we have

$$
\|c \vee|a-c|\| \geqq\left\|c+a^{-}\right\| .
$$

By Definition 1.2 (3) and (4)

$$
\|c \vee|a-c|\|=\|c\| \vee\||a-c|\|=\|c\| \vee\|a-c\|
$$

and hence we have (2).
Since $c, d \in E$ implies that $|c-d| \leqq c \vee d$, by Definition 1.2(3) and (4) we have

$$
\|c-d\| \leqq\|c \vee d\|=\|c\| \vee\|d\|
$$

If $|a| \wedge c=0$, then

$$
|a+c|=|a|+c=|a| \vee c .
$$

Therefore by Definition 1.2(3) and (4)

$$
\|a+c\|=\||a+c|\|=\||a| \vee c\|=\|a\| \vee\|c\|
$$

Q.E.D.

Lemma 1.5. For any $b, c \in E^{+}$with $b \wedge c=0$ and $x \in E$
(1) $\|x+b \pm c\| \geqq\|(x \wedge b) \vee-b+b\| \vee\|(x \wedge c) \vee-c \pm c\|$

Proof. Since $b \wedge c=0$ implies that $c \wedge 2 b=0$,

$$
b=b-c \wedge 2 b=(b-c) \vee-b \leqq((b \pm c) \wedge b) \vee-b \leqq b
$$

Therefore
(2) $((b \pm c) \wedge b) \vee-b=b$.

Since $b \wedge(c \pm c) \leqq b \wedge 2 c=0$, we have
(3) $((b \pm c) \wedge c) \vee-c=((b \wedge(c \mp c)) \pm c) \vee-c=( \pm c) \vee-c= \pm c$.

By (2), (3) and Lemma 1.4 (1)

$$
\begin{aligned}
& \|x+b \pm c\| \\
& \quad \geqq\|(x \wedge b) \vee-b+((b \pm c) \wedge b) \vee-b\| \vee\|(x \wedge c) \vee-c+((b \pm c) \wedge c) \vee-c\| \\
& \quad \geqq\|(x \wedge b) \vee-b+b\| \vee\|(x \wedge c) \vee-c \pm c\|
\end{aligned}
$$

2. A characterization of conditional expectation. Let $(\Omega, \mathcal{A}, \mu)$ be a probability space and for any $A \in \mathcal{A}$ we denote by $I_{A}$ the indicator function of
A. Let $L_{1}(\Omega, \mathcal{A}, \mu, E)$ be the class of $E$-valued Bochner integrable functions, which is a Banach spase with the norm $\left\|\|_{L}\right.$ defined by

$$
\|f\|_{L}=\int\|f(\omega)\| d \mu \quad \text { for any } \quad f \in L_{1}(\Omega, \mathcal{A}, \mu, E)
$$

Let $L_{1}\left(\Omega, \mathcal{A}, \mu, E^{+}\right)=\left\{f \in L_{1}(\Omega, \mathcal{A}, \mu, E) ; f(\omega) \in E^{+}(\right.$a.e. $\left.\omega)\right\}$. For any $f \in L_{1}$ $(\Omega, \mathcal{A}, \mu, E)$ and $a \in E$ we define $f+a$ by

$$
(f+a)(\omega)=f(\omega)+a .
$$

For any $\psi \in L_{1}(\Omega, \mathcal{A}, \mu, R)$ and $a \in E$ we define $\psi a$ by $(\psi a)(\omega)=\psi(\omega) a$. Then $\|\psi a\|_{L}=\|a\|\|\psi\|_{L}$. For the definition and properties of Bochner integral, see Hille and Phillips [5].

Definition 2.1. For a $\sigma$-subalgebra $\mathscr{B}$ of $\mathcal{A}$, a function $g$ is called the conditional expectation of $f$ given $\mathcal{B}$ if $g$ is measurable with respect to $\mathscr{B}$, and

$$
\int_{B} g d \mu=\int_{B} f d \mu \quad \text { for each } \quad B \in \mathscr{B}
$$

where the integral is the Bochner integral. We denote by $f \mathscr{B}$ the conditional expectation of $f$ given $\mathscr{B}$.

Definition 2.2. Let $P$ be a linear operator of $L_{1}(\Omega, \mathcal{A}, \mu, E)$ into itself. $P$ is said to be contractive if

$$
\|P\|=\sup \left\{\|P(f)\|_{L} ; f \in L_{1}(\Omega, \mathcal{A}, \mu, E) \quad \text { and } \quad\|f\|_{L}=1\right\} \leqq 1
$$

$P$ is constant-preserving if $P\left(I_{\mathrm{Q}} a\right)=I_{\mathrm{\Omega}} a$ for each $a \in E$ and $P$ is called a projection if $P \circ P=P$, where $I_{\mathrm{\Omega}}$ is the indicator function of $\Omega$.

Lemma 2.1. For each $f \in L_{1}(\Omega, \mathcal{A}, \mu, E)$ the conditional expectation of $f$ exists uniquely up to almost everywhere and the conditional expectation operator ()$^{\mathcal{B}}$ is a constant-preserving contractive projection for each $\sigma$-subalgebra $\mathscr{B}$ of $\mathcal{A}$.

For the proof see Schwartz [10].
Lemma 2.2. If $P$ is a constant-preserving contractive projection of $L_{1}(\Omega, \mathcal{A}, \mu, R)$ into itself, then there exists a $\sigma$-subalgebra $\mathscr{B}$ of $\mathcal{A}$ such that $P(f)$ $=f f^{\mathscr{B}}$ for any $f \in L_{1}(\Omega, \mathcal{A}, \mu, R)$.

For the proof see Douglas [3]. Note that this Lemma is for the real-valued functions.

Lemma 2.3. If $a^{*}$ is a bounded linear operator of $E$ into $R$ and $f \in$ $L_{1}(\Omega, \mathcal{A}, \mu, E)$, then we have

$$
a^{*}\left(\int f(\omega) d \mu\right)=\int o^{*}(f(\omega)) d \mu
$$

For the proof see Hille and Phillips [5].
Lemma 2.4. Let $Q$ be a constant-preserving contractive projection of $L_{1}$ $(\Omega, \mathcal{A}, \mu, E)$ into itself. If $a, b, c \in E^{+}$with $a \wedge b=b \wedge c=c \wedge a=0$ and $b>0$, then for any $\psi \in L_{1}(\Omega, \mathcal{A}, \mu, R)$ we have

$$
\begin{equation*}
(Q(\psi a)(\omega) \wedge c) \vee-c=0(a . e . \omega) \tag{1}
\end{equation*}
$$

Proof. If $a=0$ or $c=0$, then this Lemma is trivial. So we may assume that $\|a\|=\|b\|=\|c\|=1$. First we assume that $|\psi(\omega)| \leqq 1$ (a.e. $\omega$ ).
Let $e=\int|(Q(\psi a) \wedge c) \vee-c| d \mu=\int|Q(\psi a)| \wedge c d \mu$, where the last equation comes from Lemma 1.3 (5).
Suppose that $e>0$. Then there exist $k \in R^{+}$and $d^{*} \in E_{h}$ such that $d^{*}(k e)$ $=\|k e\|=1$. Let $d=k e \vee c$, then $\|d\|=1$.
Since $e \leqq c, a \wedge d=d \wedge b=0$.
Since $d^{*}(c) \leqq\|c\|=1$,

$$
d^{*}(d)=d^{*}(k e \bigvee c)=d^{*}(k e) \vee d^{*}(c)=1
$$

Let $f(\omega)=(Q(\psi a)(\omega) \wedge b) \vee-b$
and

$$
g(\omega)=(Q(\psi a)(\omega) \wedge d) \vee-d
$$

By Lemma $1.3(5)|g(\omega)|=|Q(\psi a)(\omega)| \wedge d$, and hence by Lemma 2.3 we have

$$
\begin{align*}
1= & d^{*}(k e)=k d^{*}\left(\int|Q(\psi a)| \wedge c d \mu\right)  \tag{2}\\
& \leqq k d^{*}\left(\int|Q(\psi a)| \wedge d d \mu\right) \\
& \leqq k d^{*}\left(\int|g| d \mu\right) \\
= & k \int d^{*}(|g|) d \mu
\end{align*}
$$

where the last equation comes from Lemma 2.3.
Since $|\psi(\omega)| \leqq 1$ (a.e. $\omega$ ) and $a \wedge b=b \wedge d=d \wedge a=0$ with

$$
\|a\|=\|b\|=\|d\|=1
$$

by Lemma 1.4 (4)

$$
\|\psi(\omega) a+b \pm d\|=\|\psi(\omega) a\| \vee\|b\| \vee\|d\|=1(a . e . \omega) .
$$

$Q$ is constant-preserving and contractive, and hence

$$
\begin{equation*}
1=\int\|\psi a+b \pm d\| d \mu \geqq \int\|Q(\psi a)+b \pm d\| d \mu \tag{3}
\end{equation*}
$$

By Lemma 1.5 we have

$$
\begin{equation*}
\int\|Q(\psi a)+b \pm d\| d \mu \geqq \int\|f+b\| \vee\|g \pm d\| d \mu \tag{4}
\end{equation*}
$$

By the property of integral we have

$$
\begin{align*}
& \int\|f+b\| \vee\|g \pm d\| d \mu  \tag{5}\\
& \quad \geqq \int\|f+b\| d \mu \vee \int\|g \pm d\| d \mu \\
& \quad \geqq \int\|f+b\| d \mu \wedge \int\|g \pm d\| d \mu \\
& \quad \geqq\left\|\int f d \mu+b\right\| \wedge\left\|\int g d \mu \pm d\right\|
\end{align*}
$$

Therefore by (3), (4) and (5)

$$
1 \geqq \int\|g \pm d\| d \mu \geqq\left\|\int g d \mu \pm d\right\|
$$

Since $\left\|\int g d \mu+d\right\|+\left\|\int g d \mu-d\right\| \geqq 2\|d\|=2$, we have

$$
\begin{equation*}
\left\|\int g d \mu \pm d\right\|=1 \tag{6}
\end{equation*}
$$

Similarly we can prove that

$$
\begin{equation*}
\left\|\int f d \mu+b\right\|=1 \tag{7}
\end{equation*}
$$

Therefore by (3), (4), (5), (6) and (7)

$$
\begin{aligned}
& \|g(\omega)+d\|=\|f(\omega)+b\| \\
& \quad=\|g(\omega)-d\|
\end{aligned}
$$

Since

$$
\|g(\omega)+d\|+\|g(\omega)-d\| \geqq 2\|d\|=2
$$

by (5) we have

$$
\begin{equation*}
\|g(\omega)+d\|=\|g(\omega)-d\|=1(\text { a.e. } \omega) \tag{8}
\end{equation*}
$$

By the definition of $g(\omega)$ we have $d-g(\omega), d+g(\omega) \geqq 0$ (a.e. $\omega$ ), and hence by (8)

$$
\begin{aligned}
& \|d+|g(\omega)|\| \\
& \quad=\|(d-g(\omega)) \vee(d+g(\omega) \| \\
& \quad=\|d-g(\omega)\| \vee\|d+g(\omega)\|=1(\text { a.e. } \omega)
\end{aligned}
$$

Since $d^{*}(d)=1$,

$$
\begin{gathered}
1+d^{*}(|g(\omega)|)=d^{*}(d+|g(\omega)|) \\
\leqq\|d+|g(\omega)|\| \leqq 1(\text { a.e. } \omega) .
\end{gathered}
$$

Therefore we have

$$
d^{*}(|g(\omega)|)=0(\text { a.e. } \omega),
$$

which contradicts (2). (1) remains valid for any bounded function $\psi$. Since an arbitrary function can be approximated by bounded functions, by Lemma 1.4(1) we can prove (1).
Q.E.D.

Lemma 2.5. Suppose that there exist $a, b, c \in E$ with $a \wedge b=b \wedge c=c \wedge a=0$ and $a, b, c>0$. Then

$$
\begin{equation*}
Q(\psi a)(\omega) \in E^{+}(a . e . \omega) \text { for any } \psi \in L_{1}\left(\Omega, \mathcal{A}, \mu, R^{+}\right) . \tag{1}
\end{equation*}
$$

In particular if $0 \leqq \psi(\omega) \leqq 1$ (a.e. $\omega$ ), then $0 \leqq Q(\psi a)(\omega) \leqq a($ a.e. $\omega)$.
Proof. We may suppose that $0 \leqq \psi(\omega) \leqq 1$ (a.e. $\omega$ ) and $\|a\|=\|b\|=1$. Let $e=\int Q(\psi a)^{-} d \mu$. We suppose that $e>0$. Then there exists $k>0$ such that $\|k e\|=1$. Let $d=k e$. Since $a \wedge b=0$, by Lemma 2.4

$$
(Q(\psi a)(\omega) \wedge b) \vee-b=0
$$

Hence by Lemma 1.3 (4), (5)

$$
\begin{equation*}
|Q(\psi a)(\omega)| \wedge b=Q(\psi a)(\omega)^{-} \wedge b=0(\text { a.e. } \omega) \tag{2}
\end{equation*}
$$

Therefore

$$
\begin{equation*}
d \wedge b=k e \wedge b=0 \tag{3}
\end{equation*}
$$

Since $a \wedge b=0$, by Lemma 1.4(3) and Definition 1.2

$$
\begin{align*}
& \|\psi(\omega) a-d+b\| \leqq\|\psi(\omega) a+b\| \vee\|d\|  \tag{4}\\
& \quad=\|b\| \vee\|\psi(\omega) a\| \vee\|d\|=1 \text { (a.e. } \omega) .
\end{align*}
$$

By (2), (3) and Lemma 1.3 (6) we have

$$
|Q(\psi a)(\omega)-d| \wedge b \leqq|Q(\psi a)(\omega)| \wedge b+d \wedge b=0
$$

and hence by Lemma 1.4 (4) and the fact that $\|b\|=\|d\|=1$

$$
\begin{align*}
& \|Q(\psi a)(\omega)-d+b\|=\|Q(\psi a)(\omega)-d\| \vee\|b\|  \tag{5}\\
& \quad=\|Q(\psi a)(\omega)-d\| \vee\|d\| .
\end{align*}
$$

By Lemma 1.4 (2)

$$
\begin{equation*}
\|Q(\psi a)(\omega)-d\| \vee\|d\| \geqq\left\|Q(\psi a)(\omega)^{-}+d\right\| . \tag{6}
\end{equation*}
$$

Since $Q$ is constant-preserving and contractive, by (4),(5) and (6),

$$
\begin{aligned}
& 1 \geqq \int\|\psi a-d+b\| d \mu \geqq \int\|Q(\psi a)-d+b\| d \mu \\
& \quad \geqq \int\left\|Q(\psi a)^{-}+d\right\| d \mu \geqq\left\|\int Q(\psi a)^{-} d \mu+d\right\| \\
& \quad=\|e+d\|=\|((1 / k)+1) d\|>1
\end{aligned}
$$

which leads to a contradiction, and hence $e=0$. Therefore

$$
Q(\psi a)(\omega) \in E^{+}(a . e . \omega)
$$

Let $\phi(\omega)=1-\psi(\omega)$. Then similarly we can prove that

$$
\begin{aligned}
& Q(\phi a)(\omega) \in E^{+} . \quad \text { Since } Q \text { is constant-preserving, } \\
& Q(\psi a)(\omega)+Q(\phi a)(\omega)=a
\end{aligned}
$$

Hence we have

$$
0 \leqq Q(\psi a)(\omega) \leqq a(\text { a.e. } \omega)
$$

Q.E.D.

Lemma 2.6. Suppose that there exist $a, b, c \in E^{+}$with $a \wedge b=b \wedge c=c \wedge a=$ 0 and $\|a\|=\|b\|=\|c\|=1$. If $d \in E^{+}$and $d^{*} \in E_{h}$ with $d^{*}(d)=\|d\|$, then for any $\psi \in L_{1}\left(\Omega, \mathcal{A}, \mu, R^{+}\right)$we have

$$
\begin{aligned}
& d^{*}(Q(\psi d)(\omega))=\|Q(\psi d)(\omega)\|(\text { a.e. } \omega) \\
& \|Q(\psi d)\|_{L}=\|\psi d\|_{L}
\end{aligned}
$$

and

$$
\|Q(\psi a)(\omega)\|=\|Q(\psi b)(\omega)\|(\text { a.e. } \omega)
$$

Proof. First we assume that $0 \leqq \psi(\omega) \leqq 1$ (a.e. $\omega$ ) and $\|d\|=1$. Let $\phi(\omega)=$ $1-\psi(\omega)$. Since $\left\|d^{*}\right\| \leqq 1$, we have

$$
\begin{equation*}
d^{*}(Q(\psi d)(\omega)) \leqq\|Q(\psi d)(\omega)\|(a . e . \omega) \tag{4}
\end{equation*}
$$

and

$$
\begin{equation*}
d^{*}(Q(\phi d)(\omega)) \leqq\|Q(\phi d)(\omega)\|(\text { a.e. } \omega) \tag{5}
\end{equation*}
$$

$Q$ is constant-preserving, and hence

$$
\begin{align*}
& d^{*}(Q(\psi d)(\omega))+d^{*}(Q(\phi d)(\omega))  \tag{6}\\
& \quad=d^{*}\left(Q\left(I_{\mathbf{\Omega}} d\right)(\omega)\right)=d^{*}(d)=1
\end{align*}
$$

Since $Q$ is contractive,

$$
\begin{align*}
& \int\|Q(\psi d)\| d \mu+\int\|Q(\phi d)\| d \mu \leqq \int\|\psi d\| d \mu+\int\|\phi d\| d \mu  \tag{7}\\
& \quad=\|d\|=1
\end{align*}
$$

By (4), (5), (6) and (7) we have

$$
\begin{equation*}
d^{*}(Q(\psi d)(\omega))=\|Q(\psi d)(\omega)\|(\text { a.e. } \omega) \tag{8}
\end{equation*}
$$

and

$$
\begin{equation*}
\int\|Q(\psi d)\| d \mu=\int\|\psi d\| d \mu \tag{9}
\end{equation*}
$$

It is easy to show that (8) and (9) remain true for any bounded function $\psi \in L_{1}$ $\left(\Omega, \mathcal{A}, \mu, R^{+}\right)$. Since any $\psi \in L_{1}\left(\Omega, \mathcal{A}, \mu, R^{+}\right)$can be approximated by a sequence of bounded functions, (8) and (9) are true for $\psi$. We have proved (1) and (2). By Lemma $2.50 \leqq Q(\psi a)(\omega) \leqq a$ and $0 \leqq Q(\psi b)(\omega) \leqq b$, and hence by the relation $a \wedge b=0$ we have

$$
Q(\psi a)(\omega) \wedge Q(\psi b)(\omega)=0(a . e . \omega) .
$$

By Lemma 1.4 (4)

$$
\begin{align*}
& \int\|Q(\psi a)\| \vee\|Q(\psi b)\| d \mu=\int\|Q(\psi a)+Q(\psi b)\| d \mu  \tag{10}\\
& \quad \leqq \int\|\psi a+\psi b\| d \mu=\int\|\psi a\| \vee\|\psi b\| d \mu \\
& \quad=\int\|\psi a\| d \mu=\int\|\psi b\| d \mu .
\end{align*}
$$

(9) remains true for $d=a$ or $b$, and hence by (10) we have

$$
\|Q(\psi a)(\omega)\|=\|Q(\psi b)(\omega)\|(a . e . \omega)
$$

Lemma 2.7. Suppose that there exist $a, b, c \in E$ such that $a, b, c>0$ and $a \wedge b=b \wedge c=c \wedge a=0$. If $\psi, \phi \in L_{1}(\Omega, \mathcal{A}, \mu, R)$ satisfy the condition
(1) $0 \leqq \psi(\omega) \leqq 1($ a.e. $\omega)$ and $\phi(\omega)\|a\|=\|Q(\psi a)(\omega)\|($ a.e. $\omega)$, then $\|Q(\phi a)(\omega)\|=\phi(\omega)\|a\|$.
Proof. We assume that $\|a\|=\|b\|=1 . \quad$ By (1) and Lemma 2.5 we have

$$
\begin{equation*}
0 \leqq Q(\psi b)(\omega) \leqq b(a . e . \omega) \tag{2}
\end{equation*}
$$

and hence $0 \leqq \phi(\omega) \leqq 1$ (a.e. $\omega$ ).
Therefore by Lemma 2.5 we have

$$
\begin{equation*}
0 \leqq Q(\phi a)(\omega) \leqq a(\text { a.e. } \omega) \tag{3}
\end{equation*}
$$

Since $a \wedge b=0$, by (1), (2), (3) and Lemma 1.4 we have

$$
\begin{align*}
& \|Q(\psi b)(\omega)-Q(\phi a)(\omega)\|=\|Q(\psi b)(\omega)\| \vee\|Q(\phi a)(\omega)\|  \tag{4}\\
& \quad=\phi(\omega) \vee\|Q(\phi a)(\omega)\|(a . e . \omega)
\end{align*}
$$

and

$$
\begin{align*}
& \|Q(\psi b)(\omega)-\phi(\omega) a\|=\|Q(\psi b)(\omega)\| \vee\|\phi(\omega) a\|  \tag{5}\\
& \quad=\phi(\omega)(\text { a.e. } \omega) .
\end{align*}
$$

Since $Q$ is a contractive projection,

$$
\int\|Q(\psi b)-\phi a\| d \mu \geqq \int\|Q(\psi b)-Q(\phi a)\| d \mu
$$

and hence by (4) and (5) we have

$$
\int \phi d \mu \geqq \int \phi \vee\|Q(\phi a)\| d \mu
$$

which implies that

$$
\phi(\omega) \leqq\|Q(\phi a)(\omega)\|(\text { a.e. } \omega) .
$$

By Lemma 2.6

$$
\|Q(\phi a)\|_{L}=\|\phi a\|_{L}=\|\phi\|_{L} .
$$

Therefore we have

$$
\phi(\omega)=\|Q(\phi a)(\omega)\|(a . e . \omega)
$$

Q.E.D.

Lemma 2.8. If there exist $a, b, c \in E$ with $a \wedge b=b \wedge c=c \wedge a=0$ and $a, b, c>0$, then there exists a $\sigma$-subalgebra $\mathcal{B}$ of $\mathcal{A}$ such that $\|Q(\psi a)(\omega)\|=$ $\psi^{\mathcal{G}}(\omega)\|a\|$ for any $\psi \in L_{1}\left(\Omega, \mathcal{A}, \mu, R^{+}\right)$.

Proof. We may suppose that $\|a\|=1$. Let $a^{*} \in E_{h}$ such that $a^{*}(a)=1$. Define an operator $P$ of $L_{1}(\Omega, \mathcal{A}, \mu, R)$ into itself by $P(\psi)(\omega)=a^{*}(Q(\psi a)(\omega))$ for any $\psi \in L_{1}(\Omega, \mathcal{A}, \mu, R)$. Since $a^{*}$ and $Q$ are linear operators, $P$ is a linear operator. Since $Q$ is constant-preserving, we have

$$
\begin{equation*}
P\left(I_{\mathbf{\Omega}}\right)(\omega)=a^{*}\left(Q\left(I_{\mathbf{\Omega}} a\right)(\omega)\right)=a^{*}(a)=I_{\mathbf{\Omega}}(\omega) \tag{1}
\end{equation*}
$$

If $\psi(\omega) \geqq 0$, then by Lemma 2.6

$$
\|Q(\psi a)(\omega)\|=a^{*}\left(Q\left(I_{\mathrm{⿺}} a\right)(\omega)\right)=P(\psi)
$$

Since $Q$ is contractive and $\left\|a^{*}\right\| \leqq 1$,

$$
\begin{align*}
& \int|P(\psi)| d \mu=\int\left|a^{*}(Q(\psi a)(\omega))\right| d \mu  \tag{2}\\
& \quad \leqq \int\|Q(\psi a)\| d \mu \leqq \int\|\psi a\| d \mu=\int|\psi| d \mu
\end{align*}
$$

Let

$$
\begin{equation*}
\phi(\omega)=\|Q(\psi a)(\omega)\|=P(\psi)(\omega) \tag{3}
\end{equation*}
$$

If $0 \leqq \psi(\omega) \leqq 1($ a.e. $\omega)$, then by Lemma 2.7

$$
\begin{equation*}
\phi(\omega)=\|(\phi a)(\omega)\|=\|Q(\phi a)(\omega)\|=P(\phi)(\omega) \tag{4}
\end{equation*}
$$

By (3) and (4)

$$
\begin{equation*}
P(\psi)=P(P(\psi)) \tag{5}
\end{equation*}
$$

Since $P$ is a linear contractive operator, it is easy to show that (5) remains valid for any $\psi \in L_{1}(\Omega, \mathcal{A}, \mu, R)$. Therefore by (1), (2), (5) and Lemma 2.2 there exists a $\sigma$-subalgebra $\mathscr{B}$ such that

$$
\begin{equation*}
P(\psi)=\psi^{\mathcal{B}} . \tag{6}
\end{equation*}
$$

By Lemma 2.6 and the definition of $P$

$$
\begin{equation*}
P(\psi)(\omega)=a^{*}(Q(\psi a)(\omega))=\|Q(\psi a)(\omega)\| \tag{7}
\end{equation*}
$$

By (6) and (7) we have proved this Lemma.
Q.E.D.

Lemma 2.9. Let $a, b, c, d \in E$ with $a, b, c, d>0$ and $a \wedge b=b \wedge c=c \wedge a=0$. Then we can choose $a^{\prime}, b^{\prime}, d^{\prime} \in E^{+}, k \in R$ such that $d=d^{\prime}+(k a \wedge d)+(k b \wedge d)+$ $(k c \wedge d), a^{\prime}, b^{\prime}>0$ and $a^{\prime} \wedge b^{\prime}=b^{\prime} \wedge d^{\prime}=d^{\prime} \wedge a^{\prime}=0$.

Proof. We may suppose that $\|a\|=\|b\|=\|c\|=1$. Let $k=2\|d\|$, and $a^{\prime}=$ $k a-k a \wedge d, b^{\prime}=k b-k b \wedge d$ and $d^{\prime}=d-d \wedge k(a \vee b \vee c)$. Since $\|k a\|=k>\|d\| \geqq$ $\|k a \wedge d\| \vee\|k b \wedge d\|$, we have $a^{\prime}, b^{\prime}>0$.
Since $a \wedge b=b \wedge c=c \wedge a=0$, we have

$$
\begin{aligned}
d & =d-d \wedge k(a \vee b \vee c)=d-((k a \wedge d) \vee(k b \wedge d) \vee(k c \wedge d)) \\
& =d-(k a \wedge d+k b \wedge d+k c \wedge d)
\end{aligned}
$$

By the definitions of $k, a^{\prime}, b^{\prime}$ and $d^{\prime}$ we have

$$
0 \leqq a^{\prime} \wedge b^{\prime} \leqq k a \wedge k b=0
$$

and

$$
\begin{aligned}
& 0 \leqq d^{\prime} \wedge a^{\prime}=(d-d \wedge k(a \vee b \vee c)) \wedge(k a-k a \wedge d) \\
& \quad \leqq(d-k a \wedge d) \wedge(k a-k a \wedge d)=k a \wedge d-k a \wedge d=0
\end{aligned}
$$

Similarly we can prove that $b^{\prime} \wedge d^{\prime}=0$.
Q.E.D.

Lemma 2.10. Suppose that there exist $a, b, c \in E$ with $a, b, c>0$ and $a \wedge b=$ $b \wedge c=c \wedge a=0$. If $d, e \in E$ and $d \geqq e$, then $Q(\psi d)(\omega) \geqq Q(\psi e)(\omega)(a . e . \omega)$ for any $\psi \in L_{1}\left(\Omega, \mathcal{A}, \mu, R^{+}\right)$.

Proof. We may suppose that $d>0$. Then by Lemma 2.9 there exist $a^{\prime}, b^{\prime}, d^{\prime} \in E$ such that

$$
\begin{equation*}
a^{\prime}, b^{\prime}>0 \tag{1}
\end{equation*}
$$

$$
\begin{equation*}
d=d^{\prime}+(k a \wedge d)+(k b \wedge d)+(k c \wedge d) \tag{2}
\end{equation*}
$$

and

$$
\begin{equation*}
a^{\prime} \wedge b^{\prime}=b^{\prime} \wedge d^{\prime}=d^{\prime} \wedge a^{\prime}=0 \tag{3}
\end{equation*}
$$

If $d^{\prime}>0$, then by (1), (3) and Lemma 2.5 we have

$$
\begin{equation*}
Q\left(\psi d^{\prime}\right)(\omega) \in E^{+}(\text {a.e. } \omega) \tag{4}
\end{equation*}
$$

If $d^{\prime}=0$, then (4) is trivial.
Since $a \wedge b=b \wedge c=c \wedge a=0$,

$$
\begin{equation*}
(k a \wedge d) \wedge b=(k a \wedge d) \wedge c=b \wedge c=0 \tag{5}
\end{equation*}
$$

If $k a \wedge d>0$, then by (5) and Lemma 2.5

$$
\begin{equation*}
Q(\psi(k a \wedge d))(\omega) \in E^{+}(a . e . \omega) \tag{6}
\end{equation*}
$$

If $k a \wedge d=0$, then (6) is trivial.
Similarly we can prove that

$$
\begin{equation*}
Q(\psi(k b \wedge d))(\omega) \in E^{+} \tag{7}
\end{equation*}
$$

and

$$
\begin{equation*}
Q(\psi(k c \wedge d))(\omega) \in E^{+} \tag{8}
\end{equation*}
$$

By (2), (4), (6), (7) and (8) we have

$$
Q(\psi d)(\omega) \in E^{+}(\text {a.e. } \omega)
$$

Since $Q$ is linear, this proves the lemma.
Q.E.D.

Lemma 2.11. Suppose that there exist $a, b, c \in E$ with $a, b, c>0$ and $a \wedge b=b \wedge c=c \wedge a=0$. Then for any $d \in E^{+}$there exists a $\sigma$-subalgebra $\mathscr{B}$ of $\mathcal{A}$ such that

$$
\|Q(\psi d)(\omega)\|=\psi^{\mathscr{B}}\|d\|(a . e . \omega)
$$

for any $\psi \in L_{1}\left(\Omega, \mathcal{A}, \mu, R^{+}\right)$, where $\mathscr{B}$ is independent of the choice of $d$.
Proof. We may suppose that $\|a\|=\|d\|$. Then $\|a \vee d\|=\|a\| \vee\|d\|=$ $\|a\|=\|d\|$.
By Lemma 2.10

$$
\begin{equation*}
Q(\psi(d \vee a))(\omega) \geqq Q(\psi a)(\omega) \vee Q(\psi d)(\omega) \geqq 0 \text { in } E . \tag{1}
\end{equation*}
$$

By Lemma 2.8 there exists a $\sigma$-subalgebra $\mathscr{B}$ of $\mathcal{A}$ such that

$$
\|Q(\psi a)(\omega)\|=\psi^{\mathscr{B}}\|a\| .
$$

and hence by (1) and Definition 1.2 (4) we have

$$
\begin{gather*}
\|Q(\psi(a \vee d))(\omega)\| \geqq\|Q(\psi a)(\omega)\|  \tag{2}\\
=\psi^{\mathscr{B}}\|a\|=\psi^{\mathscr{B}}\|a \vee d\| .
\end{gather*}
$$

By Lemma 2.6 and the properties of conditional expectation

$$
\| Q\left(\psi(a \vee d)\left\|_{L}=\right\| \psi(a \vee d)\left\|_{L}=\right\| \psi^{\mathscr{B}}(a \vee d) \|_{L},\right.
$$

and hence by (2) we have

$$
\begin{equation*}
\|Q(\psi(a \vee d))(\omega)\|=\psi^{\mathscr{B}}\|a\|=\psi^{\mathscr{E}}\|d\| . \tag{3}
\end{equation*}
$$

By (1)

$$
\begin{equation*}
\|Q(\downarrow(a \vee d))(\omega)\| \geqq\|Q(\psi d)(\omega)\| . \tag{4}
\end{equation*}
$$

By Lemma 2.6

$$
\|Q(\psi d)\|_{L}=\|\psi d\|_{L}=\left\|\psi^{\mathscr{B}} d\right\|_{L}=\left\|\psi^{\mathscr{B}}\right\|_{L}\|d\|,
$$

and hence by (3) and (4)

$$
\|Q(\psi d)(\omega)\|=\psi^{\mathscr{B}}\|d\| .
$$

It is clear that $\mathscr{B}$ is independent of the choice of $d$.
Q.E.D.

Lemma 2.12. If $\operatorname{dim}(E) \geqq 3$, where $\operatorname{dim}(E)$ is the dimension of $E$ as a linear space, then there exist $a, b, c \in E$ such that $a, b, c>0$ and $a \wedge b=b \wedge c=c \wedge a=0$.

The proof of this lemma is a direct result of Theorem 26.10 of Luxemburg and Zaanen [7]

Theorem 1. If $\operatorname{dim}(E) \geqq 3$, then there exists a $\sigma$-subalgebra $\mathscr{B}$ of $\mathcal{A}$ such that $Q(f)=f{ }^{\mathcal{B}}$ for any $f \in L_{1}(\Omega, \mathcal{A}, \mu, E)$.

Proof. Let $\mathscr{B}$ be the $\sigma$-subalgebra whose existence was proved in Lemma 2.11. Since the conditional expectation operator ()$^{\mathcal{B}}$ and $Q$ are linear bounded operators, it is sufficient to show that for any $d \in E^{+}$and $A \in \mathcal{A}$ with $\|d\|=1$

$$
Q\left(I_{A} d\right)=\left(I_{A}\right)^{\mathcal{B}} d
$$

Let $e=\int\left(Q\left(I_{A} d\right)(\omega) \vee\left(I_{A} d\right)^{\mathscr{B}}(\omega)-Q\left(I_{A} d\right)(\omega)\right) d \mu(\omega)$. Clearly $e \in E^{+}$. We suppose that $e>0$. Since $e>0$, by Lemma 1.2 there exists $e^{*} \in E_{h}$ such that

$$
\|e\|=\left|e^{*}(e)\right|=e^{*}(e)
$$

By Lemma 2.5

$$
\begin{equation*}
0 \leqq Q\left(I_{A} d\right)(\omega) \leqq d \tag{1}
\end{equation*}
$$

By the properties of conditional expectation we have

$$
0 \leqq\left(I_{A} d\right)^{\mathcal{B}}(\omega) \leqq d,
$$

and hence by (1)

$$
0<e \leqq d
$$

by which we have

$$
e^{*}(e) \leqq e^{*}(d) .
$$

Therefore we can choose $k \geqq 1$ such that $e^{*}(k e)=e^{*}(d)$. Then we have

$$
\begin{equation*}
e^{*}(k e \wedge d)=e^{*}(k e) \wedge e^{*}(d)=e^{*}(d) \tag{2}
\end{equation*}
$$

Since $\left\|e^{*}\right\| \leqq 1$,

$$
\begin{equation*}
e^{*}(k e \wedge d) \leqq\|k e \wedge d\| \leqq\|k e\|=k e^{*}(e)=e^{*}(d) \tag{3}
\end{equation*}
$$

By (2) and (3) we have

$$
\begin{equation*}
e^{*}(k e \wedge d)=\|k e \wedge d\|=e^{*}(d) \tag{4}
\end{equation*}
$$

Since $d \geqq k e \wedge d$, by (4) and Lemma 2.6

$$
e^{*}\left(Q\left(I_{A} d\right)(\omega)\right) \geqq e^{*}\left(Q\left(I_{A}(k e \wedge d)\right)(\omega)\right)=\left\|Q\left(I_{A}(k e \wedge d)\right)(\omega)\right\|
$$

By Lemma 2.11 and (4)

$$
\left\|Q\left(I_{A}(k e \wedge d)\right)(\omega)\right\|=\left(I_{A}\right)^{\mathscr{B}}(\omega)\|k e \wedge d\|=\left(I_{A}\right)^{\mathscr{B}}(\omega) e^{*}(d)
$$

Therefore

$$
\begin{aligned}
0 & <e^{*}(e)=e^{*}\left(\int\left(Q\left(I_{A} d\right)(\omega) \vee\left(I_{A} d\right)^{\mathscr{B}}(\omega)-Q\left(I_{A} d\right)(\omega)\right) d \mu\right) \\
& =\int\left(e^{*}\left(Q\left(I_{A} d\right)(\omega)\right) \vee\left(I_{A}\right)^{\mathscr{B}}(\omega) e^{*}(d)-e^{*}\left(Q\left(I_{A} d\right)(\omega)\right)\right) d \mu \\
& =\int\left(e ^ { * } \left(Q\left(I_{A} d\right)(\omega)-e^{*}\left(Q\left(I_{A} d\right)(\omega)\right) d \mu=0\right.\right.
\end{aligned}
$$

which is a contradiction. We have proved that $e=0$, and hence we have

$$
\begin{equation*}
Q\left(I_{A} d\right)(\omega) \geqq\left(I_{A} d\right)^{\mathcal{B}}(\omega)(\text { a.e. } \omega) . \tag{4}
\end{equation*}
$$

Similarly we can prove that

$$
\begin{equation*}
Q\left(I_{\Omega-A} d\right)(\omega) \geqq\left(I_{\Omega-A} d\right)^{\mathscr{B}}(\omega)(\text { a.e. } \omega) . \tag{5}
\end{equation*}
$$

Since $Q$ is constant-preserving,

$$
\begin{aligned}
& Q\left(I_{A} d\right)(\omega)+Q\left(I_{\mathbf{Q}-A} d\right)(\omega)=Q\left(I_{\mathbf{Q}} d\right)(\omega) \\
& \quad=I_{\mathbf{Q}} d(\omega)=\left(I_{A} d\right)^{\mathscr{B}}(\omega)+\left(I_{\mathbf{Q}-A} d\right)^{\mathscr{B}}(\omega),
\end{aligned}
$$

and hence by (4) and (5) we have

$$
Q\left(I_{A} d\right)=\left(I_{A} d\right)^{\mathscr{B}}
$$

Q.E.D.

Acknowledgement. The author would like to thank Professors Tsuyoshi Ando, Hirokichi Kudo and Teturo Kamae for their helpful suggestions.

## References

[1] C.D. Aliprantis and O. Burkinshaw: Locally solid Riesz spaces, Academic Press, 1978.
[2] T. Ando: Contractive projections in $L_{p}$-space, Pacific J. Math. 17 (1966), 395-405.
[3] R.G. Douglas: Contractive projections on an $L_{1}$-space, Pacific J. Math. 15 (1965), 443-462.
[4] D.H. Fremlin: Topological Riesz spaces and measure theory, Cambridge Univ. Press, 1974.
[5] E. Hille and R.S. Phillips: Function analysis and semi-groups, Amer. Math. Soc. Colloq. Publ., 1957.
[6] D. Landers and L. Rogge: Characterization of conditional expectation operators for Banach-valued functions, Proc. Amer. Math. Soc. 81 (1981), 107-110.
[7] W.A.J. Luxemburg and A.C. Zaanen: Riesz spaces 1, North-Holland Publ. Comp., Amsterdam-London, 1971.
[8] R. Miyadera: Characterizations of conditional expectations for $L_{1}(X)$-valued functions, Osaka J. Math. 23 (1986), 313-324.
[9] R. Miyadera: A characterization of conditional expectations for $L_{\infty}(X)$-valued functions, Osaka J. Math. 25 (1988), 105-113.
[10] L. Schwartz: Disintegration of measures, Tata Institute of Fundamental Research, 1976.

